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Y T Linearized knot diagam
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®
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Q/ Solving Sequence
\/

251154->10>3>9>12>8—>1>7—>6—>2>C1,C
A knot diagranﬂ = Cg Ci1 €8 Ci2 Cr C5  C2

Ideals for irreducible component#ﬂ)f Xpar

It = (W =0 4+ 2u+ 1)

* 1 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u —u+...+2u+1)

(i) Arc colorings

—ull 4+ 6w — 1247 + 8u® — ud + 2u
—u + 50 —8u” +3u +udt+u
wl® — 8utd + 244t — 3249 + 18u” — 8ud + 8u?

a1 = \ gy — 748 +18u!t — 194 + 6u” — 2u® + 4u + u

—u' + 106" — 40u'® 4 80u'? — 83u!t + 50u® — 36u” + 24u® — v + 2u
—u' 4+ 9u'™ — 320! + 55u? — 45uM 4 19u° — 16u” + 10u® + 3u® + u
w3® — 19430 + ... 4+ 202 + 1

u® — 18u0 4 - -+ + 6ut + u?

(—u21 +10ut® + - 4 6ud — u)

az =\ 4?3 —11u*' + -+ 6ud +u
(ii) Obstruction class = —1
(iii) Cusp Shapes = 4u*® — 96u*" + -+ — 24u — 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs W+ 190+ —6u—1
Ca2,Cq W — w0+ 83Ut 1
€3, C4, C10 = w0 2u
C7,C8,C11 U51+5’U150+"'+60U+7
C12
Co u’t + 3u0 4 - — 2294u — 851




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs Pl 42790 4+ — 46y — 1
c2,C6 Y19y - — 6y — 1
€3, €4, C10 yPl — 4990 ... —6y —1
T8 AL Pl 16370 4 — 1230y — 49
C12
C9 y°l —29¢y°0 + ... + 13032066y — 724201




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.497159 4 0.6870331 —12.69280 4 2.287211 | —7.99809 — 2.913401
u = —0.497159 — 0.6870331 —12.69280 — 2.287211 | —7.99809 + 2.913407
u = —0.514014 + 0.6692741 —8.53754 — 4.855871 | —4.54813 + 1.850811
u = —0.514014 — 0.6692741 —8.53754 4 4.855871 | —4.54813 — 1.850811
u = —0.476017 4 0.6963191 —8.40118 +9.403301 | —4.15224 — 7.598311
u = —0.476017 — 0.6963191 —8.40118 — 9.403301 | —4.15224 4 7.598311
u= 0.476316 + 0.6855061 —6.77395 — 3.906421 | —1.99681 + 3.099041
u= 0.476316 — 0.6855061 —6.77395 4 3.906421 | —1.99681 — 3.099041
u = 0.502151 4 0.6658621 —6.86920 — 0.587251 | —2.24865 + 2.797801
u = 0.502151 — 0.6658621 —6.86920 4 0.58725] | —2.24865 — 2.797807
u = —1.230860 + 0.1050901 —0.223422 — 0.0955041 0
u = —1.230860 — 0.1050901 —0.223422 4 0.0955041 0
u= 1.252200 4 0.1365291 —0.53663 — 5.162091 0
u = 1.252200 — 0.1365291 —0.53663 + 5.162091 0

u = —1.30322 —3.07453 0

u = 0.288268 + 0.6036461 0.37640 — 6.827271 | —0.33113 + 9.547811
u = 0.288268 — 0.6036461 0.37640 4 6.827271 | —0.33113 — 9.547811
u=0.379930 4 0.522272] —3.67336 — 1.678911 | —7.63362 + 4.682071
u = 0.379930 — 0.522272] —3.67336 4+ 1.678911 | —7.63362 — 4.682071
uw = —0.255571 + 0.5759111 1.26731 + 1.645751 2.07350 — 4.491121
u = —0.255571 — 0.5759111 1.26731 — 1.645751 2.07350 4 4.491121
u= 1.3786804 0.061133I —5.19429 — 2.376991 0
u= 1378680 — 0.0611331 —5.19429 + 2.376991 0
U 0.479281 + 0.3768991 —0.51645 + 3.542791 | —3.97592 — 2.382691
u= 0479281 —0.3768991 —0.51645 — 3.542791 | —3.97592 + 2.382691
u = 1.384830 + 0.2033761 —3.94332 — 4.478611 0
u = 1.384830 — 0.2033761 —3.94332 4 4.478611 0
u = 1.395460 4 0.1367821 —5.14352 — 2.789401 0
u=1.395460 — 0.1367821 —5.14352 4 2.789401 0
u = —1.396860 + 0.2174111 —4.98503 + 9.812691 0




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.396860 — 0.2174111

—4.98503 — 9.812691

0

u = —0.023873 + 0.5688331

3.28231 + 2.579531

6.80307 — 3.853211

u = —0.023873 — 0.5688331

3.28231 — 2.579531

6.80307 + 3.853211

u = —1.42782 + 0.180117 —9.44989 +- 4.239411 0
u = —1.42782 — 0.180111 —9.44989 — 4.239411 0
u = —1.43604 + 0.125951 —6.55813 — 1.720681 0
u = —1.43604 — 0.125951 —6.55813 4 1.720681 0

u = —0.429960 + 0.2615621

0.244440 + 1.2220201

—3.00114 — 3.760241

u = —0.429960 — 0.2615621

0.244440 — 1.2220207

—3.00114 + 3.760241

u = —1.49311 + 0.242661 —13.1596 + 7.29361 0
u = —1.49311 — 0.242661 —13.1596 — 7.29361 0
u= 149510+ 0.246971 —14.7939 — 12.84611 0
uw= 149510 — 0.246971 —14.7939 4 12.84611 0
u = —1.49838 + 0.229381 —13.36680 +- 3.846851 0
u = —1.49838 — 0.229381 —13.36680 — 3.846851 0
u = 1.50158 + 0.238621 —19.1879 — 5.66227 0
u= 1.50158 — 0.238621 —19.1879 + 5.66221 0
U 1.50376 + 0.227471 —15.1019 + 1.59371 0
u= 1.50376 —0.227471 —15.1019 — 1.59371 0

u = —0.206294 + 0.3901921

0.029465 + 0.8706301

0.74153 — 7.770971

u = —0.206294 — 0.3901921

0.029465 — 0.8706301

0.74153 + 7.770971




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Cs w196 4 — 6u— 1
C2, Cg wPl — w0 30 41
C3,C4,C10 u51—u50+~--+2u—|—1
C7,C8,C11 u51 —|—5u50+~--+60u+7
C12
Co u?t + 300 + - — 2294u — 851




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
¢1,¢s Yo 27y - — 46y — 1
€2, Co Yo+ 19y - — 6y — 1
€3, €4, €10 Yo =49y 4 — 6y — 1
C7,C8,C11 y51 + 63y5° T — 1230y — 49
C12
Co y51 o 29y50 4

-+ 4+ 13032066y — 724201




